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Wmter 2002

1 (a) y'+ac=4
(®) 135°

e

o —x'+ 6x 5 23» 1
(x-2) =0 |
. :> equal roots so tangent at

2. (a) *+ u+tdo=[1

I»A"

3 4 1
7. g% =2

(b) proof e :. 8. (a) & (b) 2 et
4 (-2 Alternatwe e Reﬂect graph in y-axis followed_

« | 13p13] (u +. 30) (u ~ 37)) . by_. 3:-'[._1.‘.5\1131?1'51.01.1( 0
1){5 _ | el e
e

| =54-9%6=0

3 y+3x=0

@*x¢f£g;dﬁ;




10 Official SQA Answers to Mathematics ~ H:gher
Mathematlcs ngher 3 ﬁ(a) 100 | St
29 B S (b) n= 7 u7 = 52 65

P'ap'er 1 _‘__(Nlori-éalcu.lator)
Wlnter_____OOZ (contd.‘) L

'f'(a) 231n(x+3 O)°_ '

____:fas
(x 4% =
(x) 0:>x—1 7

@)=
A

ple to staft.wnh
La= O 2 '

o) ¥ (ke 2y —2x""4_ Oand
'._apply d1scr1mmant e
T Sy

(3 1)




